
Chapter 28 Financial Forecasting
Answer 1

(a)(i)

Production budget in units

	
	Q1
	Q2
	Q3
	Q4
	Total

	Required by sales
	2,250
	2,050
	1,650
	2,050
	8,000

	Plus required closing inventory
	615
	495
	615
	375
	375

	Less: Opening inventory
	(675)
	(615)
	(495)
	(615)
	(675)

	Production budget
	2,190
	1,930
	1,770
	1,810
	7,700


(a)(ii)

Raw materials purchase budget

	
	Q1
	Q2
	Q3
	Q4
	Total

	Required by production
	6,570
	5,790
	5,310
	5,430
	23,100

	Plus required closing inventory
	2,605.5
	2,389.5
	2,443.5
	2,011.5
	2,011.5

	Less: Opening inventory
	(2,956.5)
	(2,605.5)
	(2,389.5)
	(2,443.5)
	(2,956.5)

	Purchase budget
	6,219
	5,574
	5,364
	4,998
	22,155

	
	
	
	
	
	

	Value
	$43,533
	$39,018
	$37,548
	$34,986
	$155,085


(b)

If material A is in short supply the company will need to obtain an alternative source of supply or find a substitute material. If they are unable to do this they will need to use limiting factor analysis to determine the optimum output level. In this situation sales will not be the limiting factor and the production budget will become the key budget factor in the budget preparation process.

(c)

It is assumed that the flexible budget statement does not require the inclusion of direct materials. The statement is as follows:
Operating statement

	
	Fixed budget
	Flexed budget
	Actual
	Flexible budget variance

	Activity
	7,700
	7,250
	7,250
	

	
	$
	$
	$
	$

	Overhead
	
	
	
	

	Variable
	168,000
	158,182
	185,000
	26,818 (A)

	Fixed
	112,000
	112,000
	105,000
	7,000 (F)

	Labour
	
	
	
	

	Skilled
	462,000
	435,000
	568,750
	133,750 (A)

	Semi-skilled
	415,800
	391,500
	332,400
	59,100 (F)

	
	1,157,800
	1,096,682
	1,191,150
	94,468 (A)


(d)

· Traditional incremental budgeting uses the previous year’s budget or actual results and adjusts for anticipated changes in the budget period. Thus past inefficiencies are incorporated in the budget.

· In contrast, ZBB starts from base zero and requires each cost element to be specifically justified as if the budgeted activities were being undertaken for the first time.

(e)

Rolling budgets are particularly useful when it is difficult to forecast future costs/activities accurately. Given that the company is experiencing an increase in competition and a shortage of raw materials it may need to react speedily to these factors in terms of competitive responses and sourcing alternative supplies. In these circumstances rolling budgets may be preferable.

Case
Question 1

(a)

[image: image1.emf]
(b)

[image: image2.emf]
(c)

[image: image3.emf]
(d)

[image: image4.emf]
(e)

[image: image5.emf]
(f)

Accounts receivable at the end of June is the amount of revenue not yet collected in June

= $15,000,000 × 25%

= $3,750,000

(g)

Accounts payable at the end of June is the amount of purchase not yet paid in June

= $28,400 × 40kg × 50%

= $568,000
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